
Wie lautet die fehlende Zahl (bis 2.000)?

Aufgabe 1

1.
1

991
 -     = 

1

539

2.
1

277
 -     =  392

3.
1

430
 -     =  87

4.
1

161
 -     =  864

5.
1

011
 -     =  533

6.
1

848
 -     =  126

7. 486  -     =  145

8.
1

382
 -     = 

1

075

9. 995  -     =  440

10.
1

467
 -     =  686

Aufgabe 2

1.
1

817
 -     =  263

2. 644  -     =  84

3.
1

647
 -     = 

1

392

4.
1

441
 -     =  785

5.
1

115
 -     =  648

6.
1

026
 -     =  607

7.
1

441
 -     = 

1

076

8.
1

906
 -     = 

1

292

9. 658  -     =  118

10.
1

933
 -     = 

1

631

Aufgabe 3

1.
1

072
 -     =  362

2.
1

650
 -     =  391

3. 954  -     =  257

Aufgabe 4

1.
1

119
 -     =  430

2.
1

892
 -     =  464

3. 443  -     =  10
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Wie lautet die fehlende Zahl (bis 2.000)?
|

ANTWORTEN

Aufgabe 1

1.
1

991
 -  452  = 

1

539

2.
1

277
 -  885  =  392

3.
1

430
 -  1 343  =  87

4.
1

161
 -  297  =  864

5.
1

011
 -  478  =  533

6.
1

848
 -  1 722  =  126

7. 486  -  341  =  145

8.
1

382
 -  307  = 

1

075

9. 995  -  555  =  440

10.
1

467
 -  781  =  686

Aufgabe 2

1.
1

817
 -  1 554  =  263

2. 644  -  560  =  84

3.
1

647
 -  255  = 

1

392

4.
1

441
 -  656  =  785

5.
1

115
 -  467  =  648

6.
1

026
 -  419  =  607

7.
1

441
 -  365  = 

1

076

8.
1

906
 -  614  = 

1

292

9. 658  -  540  =  118

10.
1

933
 -  302  = 

1

631

Aufgabe 3

1.
1

072
 -  710  =  362

2.
1

650
 -  1 259  =  391

3. 954  -  697  =  257

Aufgabe 4

1.
1

119
 -  689  =  430

2.
1

892
 -  1 428  =  464

3. 443  -  433  =  10
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